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2 1,779,815
S FHEY X4 1,839,815 260,625 1,579,190
< 60,000
2 1,779,815
O=2x2E ¥ JHZEY 200,000 200,000 0
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401 Al HI L S CHHI 200,000 200,000 0
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01 201t 19,980 8,370 11,610
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206 M= Hl 280 250 30
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SEEHEHI ALY 11,000 0 11,000
402 2I2H X201 M 11,000 0 11,000
01 B2t AL E X 11,000 0 11,000
OB & EHIALY 1,000,000& = 11002 11,000
HENSA ALY 1,515,000 0 1,515,000
201 ¢et24] 15,000 0 15,000
03 A2 Z Hl 15,000 0 15,000
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Xl 1,100,000
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04 D12t Z22EE = 4,464 4,168 296
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O3 AN 22| 5,000,000& = 14! 5,000
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1,850,000,000& = 14! 1,850,000
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OMXsXEE6 I dR=X 8,208
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oI5 O BIA X2 12,260 10,640 1,620
202 O4dl 10,260 8,640 1,620
01 = LH 4 1l 10,260 8,640 1,620
Ot =& 10,260
203 YR =&t 2,000 2,000 0
03 AIMFAH S =AY 2,000 2,000 0
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A2 (KFHLA) 93,091 70,302 22,789
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101 @14l 60,247 45,054 15,193
01 2= 60,247 45,054 15,193
OXISIMHLA AZ2HRA2R2 4 (25A12H) 60,247
Jl2Zl(KIgiea) 32,844 25,248 7,596
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201 Let24d] 26,040 18,768 7,272
01 At 22/l 26,040 18,768 7,272
OJle=+=&Hl 15,960
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202 044l 3,024 2,700 324
01 SLHOYI 3,024 2,700 324
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350,000& = 12 = 90/100 3,780




